R BR.ER

TR KELLICE I HERRE(TER O FRIR)

BAGZRODIELE 2EfHD AR

B M & B 077A1007

& Fir £ S TB

Fir = ih RETHESNMTH
HOE O OB EFEREMLEIRER T RER

. :
I e

= + #h IR 0D E Fith #2 X1200000T FL H | B[] R U E Fih F2X250000 /MEFH R 5. B I%15E

HE 5% X(S=1:25,000)



=R R MO B IR X

B3 —1_BEOSThOBELH ELLEEDSThOHET D% x_ _ _ RS B
= e & o oty | BIES 07747007 | EETR AR ] H |__FrfEd el ] A
TN N
e\ A
1:2,500
0 50 100 m
B 00

m Lim

s

M RIER

BEOESEFNDOHZ LD RKE
C ZELLVEEDETNOH ST DX E

TEEDOBEZLBAHM100kN/M%EFEZ S5 H
C TtRF0HEBEEINIMEEZSEH

5F

R




RIER O R IRXEERE

BA3—2 BEMITIERTHEEESNIEHEICEATHFEIEN/2) REEE IS TFSE
[ AEREONE | BhES 07741007 B % BTN [ it il ] A
) SUERMO T inIZBEET 5L SMERH A
ﬁ%g TREOBHOBRILADKRES TREOHFERILHDOKRES TREDBBOBILADKRES TREFOHFERILHDOKRES
= = i N o i N Tl = = I HN = AN = =3
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1 100kN/m#%#BZ % — - ~ — —|3mEEZB| 000 ~ 011|319 16.75 | 100kN/m%{BZ5 — - ~ — — |3mEBZB| 5.00 ~ 7.63|319 16.75
ZhLs 1.00 | 0.00 ~ 0.95 16.89 | =nlsty | 011 ~ 1.11]8.00 16.73 ZFhnLst 1.00 | 5.00 ~ 7.63 16.89 | =nLSt | 6.00 ~ 5.00 | 3.00 156.73
2 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
ZhLs 1.00 | 0.00 ~ 180 26.82 | =hS | 000 ~ 095272 14.28 ZFhnLst 1.00 | 5.00 ~ 6.00 26.82 | ThS | 6.00 ~ 6.00 272 14.28
3 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
ZhLs 1.00 | 0.00 ~ 0.87 44.18 | =hUS | 000 ~ 073|254 12.27 ZFhnLst 1.00 | 5.00 ~ 6.00 44.18 | =hLS | 6.00 ~ 6.00 | 2.34 12.27
4 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
ZhLs 1.00 | 0.00 ~ 0.06 7257 | EhLS | 000 ~ 006207 10.87 ZFhnLst 1.00 | 5.00 ~ 8.00 7267 | TnRS | 6.00 ~ 800|207 10.87
5 100kN/m#%#BZ % — - ~ — —|3mzEZD]| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
ZhLs 1.00 | 0.00 ~ 0.85 67.95 | =N | 000 ~ 059218 11.41 ZFhn Lot 1.00 | 5.00 ~ 8.30 67.95 | ThLS | 6.00 ~ 830|218 11.41
6 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
ZhLs 1.00 | 0.00 ~ 109 75.16 | ThLS | 000 ~ 1.09)|2.74 14.39 ZFhnLst 1.00 | 5.00 ~ 1022 76,16 | TnLRS | 6,00 ~ 1022|274 14.39
” 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
ZhLst 1.00 | 000 ~ 052 82.51 | #nst | 000 ~ 052|260 13.64 ZhLLs 1.00 | 5.00 ~ 10.00 82.51 | FnLst | 5,00 ~ 1000 2.60 13.64
g 100kN/m#Z#8Z2 5| 1.00 | 0.00 ~ 041 106.12 |3mz#EZBH| — ~ — — — | 100kN/m%#BZ% | 1.00 | 1086 ~ 1200| 106.12 |3mEBZ% - ~ — — —
zh s 1.00| 041 ~ 060 100.00| LS | 000 ~ 060|252 12,18 zhst 1.00 | 5.00 ~ 1086 100.00 | TnLS | 5.00 ~ 1200 | 2.52 12.18
9 100kN/mM#Z#B% % — - ~ — — |3mZEBZB| 0.00 ~ 024|529 17.25 | 100kN/m##% % — -~ — — |3m%E#BZ%| 1000 ~ 14.28| 3.29 17.25
zh s 1.00 000 ~ 113 54.97 | #hst | 024 ~ 1.153]3.00 15.73 ZThLLS 1.00 | 500 ~ 1428 54.97 | EnLSY | 5.00 ~ 1000 | 3.00 15.73
10 100kN/mM#Z#B% % — -~ = —|3mEBZD| 000 ~ 031|332 17.40 | 100kN/m%#% % — - ~ — — |3m%x#BZB| 1000 ~ 1634 3.32 17.40
zh s 100|000 ~ 043 76.06 | Thst | 031 ~ 0435|300 15.73 ZhLLs 1.00 | 500 ~ 1634 76.06 | =S | 5,00 ~ 1000 3.00 15.73
17 100kN/m%#8%25| 1.00 | 000 ~ -016| 111.67 |3mZ#B23B| — ~ — — — | 100kN/mM%E#BZ 3 | 1.00 | 14.92 ~ 1841 111.67 |3m%&iHBAS - ~ — — —
zh s 1.00 | -016 ~ -016| 100.00| ThLS | 000 ~ -016|291 15.27 zhst 1.00 | 5.00 ~ 1492 100.00 | TN | 5,00 ~ 1841 | 2.91 15.27
12 100kN/m%Z#BZ2% | 1.00 | 000 ~ 0385| 10523 |3mEBZE| — ~ — — — | 100kN/MiZE#BZ B | 1.00 | 11.91 ~ 1297 105.23 |3mEBZ5 - ~ — — —
zh s 100|035 ~ 621 100.00 | #hlst | 000 ~ 126247 12.93 ZThLLS 1.00 | 5.00 ~ 1191 100.00 | =S | 5,00 ~ 1297|247 12.93
. 100kN/mM#Z#B% % — -~ = —|3mZz#BZBE — ~ — — — | 100kN/m%E# 2z 3 — - ~ — — |3m%EiEZS - ~ — — —
zhLs — — ~ — —| =n st — ~ — — — zhst — — ~ — —| #h st — ~ — — —
14 100kN/mM#Z#B% % — -~ = —|3mZzEBZB — ~ — — — | 100kN/mM%E# 2z 3 — - ~ — — |3m%EEZS - ~ — — —
zh s — — ~ — —| En s — ~ — — — zhst — — ~ — —| Fh st — ~ — — —
15 100kN/mM#Z#B% % — -~ = —|3mZzEBZB — ~ — — — | 100kN/m%# 2z 3 — - ~ — — |3m%EEZS - ~ — — —
Zn s — - ~ = —| 2h st - ~ = — — Zh st — — ~ — — | Zh st - ~ — —
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16 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
Zn LS — — ~ = —| 2h st — ~ = — — ThLlst — — ~ — —| Zh st — ~ — — —
17 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
Zn LS — — ~ = —| 2h st — ~ = — — ThLlst — — ~ — —| Zh st — ~ — — —
18 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
Zn LS — — ~ = —| 2h st — ~ = — — ThLlst — — ~ — —| Zh st — ~ — — —
19 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
Zn LS — — ~ = —| 2h st — ~ = — — Th st — — ~ — —| Zh st — ~ — — —
20 100kN/m#%#BZ % — - ~ — —|3mzEZD]| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
Zn LS — — ~ = —| 2h st — ~ = — — ThLlst — — ~ — —| Zh st — ~ — — —
21 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
Zn LS — — ~ = —| 2h st — ~ = — — ThLlst — — ~ — —| Zh st — ~ — — —
22 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — —|3mEFBZD - ~ — — —
zh s — — ~ — —| =nLst — ~ — — — zhst — — ~ — —| Fh st — ~ — — —
23 100kN/mM#Z#B% % — -~ = —|3mZzBRBE — ~ — — — | 100kN/mM%# x5 — - ~ — — |3m%EiEZS - ~ — — —
zh s — — ~ — —| =nLst — ~ — — — zhst — — ~ — —| Fh st — ~ — — —
Py 100kN/mM#Z#B% % — -~ = —|3mZz#BZBE — ~ — — — | 100kN/m%# x5 — - ~ — — |3m%EiEZS - ~ — — —
zhLs — — ~ — —| =nLst — ~ — — — zhst — — ~ — —| #h st — ~ — — —
P 100kN/m#Z#B2% | 1.00| 000 ~ 1.53| 12341 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ3 | 1.00 | 1053 ~ 1569 | 123.41 |3mZEBZ% - ~ — — —
zh s 1.00| 1.53 ~ 932 100.00 | TS | 000 ~ 1.38]|2.58 12.48 zhst 1.00 | 5.00 ~ 1053 100.00 | TN | 5.00 ~ 1569 | 2.58 12.48
P 100kN/m%#B2% | 1.00| 000 ~ 1.62| 12470 |3mEBZB| — ~ — — — | 100kN/m%E#BZ3 | 1.00 | 1059 ~ 1600| 124.70 |3mZEBZ% - ~ — — —
zh s 100|162 ~ 940 100.00 | TnLs | 000 ~ -048|2.44 12.79 zhst 1.00 | 5.00 ~ 1059 100.00 | TN | 5.00 ~ 1600 | 2.44 12.79
P 100kN/m%i#B2%| 1.00| 000 ~ 125 11894 |3mEBZE| — ~ — — — | 100kN/m%#BZ5 | 1.00 | 1059 ~ 1449 11894 |3mZEBZ% - ~ — — —
zh s 100|125 ~ 904 100.00| FThbs |0oo ~ 022|224 11.77 ZThLLS 1.00 | 5.00 ~ 1059 100.00 | TN | 5,00 ~ 1449| 2.24 11.77
100kN/mM#Z#B% % ~ ImEHEZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
zhLs ~ zhnLs ~ zhst ~ zh st ~
100kN/mM#Z#B% % ~ ImEHEZD ~ 100kN/mM#Z#BZ % ~ ImEEZS ~
zh s ~ zhLst ~ zhst ~ zh s ~
100kN/mM#Z#B% % ~ 3ImEHEZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zn s ~ Zh LS ~ Zh st ~ Zh LS ~

T



